Interpreting and Reading-

Align Quiz to Standard

1. The best example of dimensioning the object shown is:
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2. Which of the following is a form of limit dimensioning?
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The best example of dimensioning this cylinder is:
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Dimensions should be placed on the view.
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When dimensions are chained, the tolerances are

Cartesian @f
absolute 'T‘
incremental
J
cumulative
This tolerance is an example of __ dimensioning
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The absolute coordinates of the lower left corner of a 3-inch
square is located at x3.00; y2.00. The upper right corner will be
located at T
x= 0.00; y= -1.00 ™
x= 5.00; y=6.00
x=6.00; y=2.00

x= 6.00; y=5.00



Add a Question

Multiple Choice True / False Short Answer

Socrativeﬁ Get PRO! Learn More



